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Algorithm S 1: Algorithm for implementation
Input : The initial condition, time stepsize τ , the maximum time-steps NT , step size for

remeshing M .

Generate a triangular mesh over the domain.

for n = 0 : NT do
• Compute Ln+1, Hn+1, rn+1, Ln+1

ox , Mn+1, Pn+1, Tn+1, In+1
γ , Sn+1, In+1

12 , Gn+1, Qn+1, Qn+1
r ,

ρn+1, Fn+1 by solving equation (33);

• Compute the mean curvature of Γn
I , κn;

• Compute σn+1 by solving equation (34);

• Compute Vn in equation (25) and update Γn+1
I ;

• Remeshing every M steps.

end
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